RECEIVED

ORIGINAL

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

SEP 2 7 2010 Form ACO-1
June 2009
Form Must Be Typed

WELL COMPLETION FORM KI WELL HISTORY - DESCRIPTION OF WELL & LEASE

KCC WICHITA Form Must Be Typed
Form must be Signed
All blanks must be Filled

OPERATOR: License # 30076	API No. 15 - 195-22682-00-00
Name: A & A PRODUCTION	Spot Description:
Address 1: PO BOX 100	SW_SW_NE_NE_Sec. 19 Twp. 13 S. R. 22 ☐ East West
Address 2:	1,060 Feet from North / South Line of Section
City: HILL CITY State: KS Zip: 67642 +	
Contact Person: ANDY ANDERSON	Footages Calculated from Nearest Outside Section Corner:
Phone: (785) 421-6266	□NE □NW □SE □SW
CONTRACTOR: License #_ 33704	County: TREGO
Name: A & A DISCOVERY LLC	Lease Name: DIETZ Well #: 1
Wellsite Geologist: HERB DEINES	Field Name: UNKNOWN
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 2407 Kelly Bushing:
✓ New Well Re-Entry Workover	Total Depth: 4500 Plug Back Total Depth:
Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 216 Feet
Gas 7 D&A DENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set:Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:
Cathodic Other (Core, Expl., etc.):	feet depth to: w/sx cmt.
If Workover/Re-entry: Old Well Info as follows:	SX CITE.
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	, '
☐ Deepening ☐ Re-perf. ☐ Conv. to ENHR ☐ Conv. to SWD	Chloride content: ppm Fluid volume: bbls
Conv. to GSW	Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	Quarter Sec TwpS. R
ENHR Permit #:	
GSW Permit #:	County: Permit #:
08-31-10 09-11-10 09-12-10	
Spud Date or Date Reached TD Completion Date or Recompletion Date	
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or confiside two of this form will be held confidential for a period of 12 months if the	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, poversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information

INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells.

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Signature: Only Inde	luon
Title: OPERATOR	Date:09-24-10

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Sonfidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT Approved by: Do Date: 12810

Nest Not Turn See Region Description	Operator Name: A & A PRODUCTION				Lease Name:Well #:1								
time tool open and closed, flowing and shuf-in pressures, whether shuf-in pressure reached static level, hydrostatic pressures, bottom hole temperature, fluid recovery, and flow receivery, and flow receivery. Drill Stem Tests Taken Ves	Sec. 19 Twp. 13	<u>3</u> s. 1	R. <u>22</u>	☐ Eas	t 🗸 West								
Samples Sant to Geological Survey	time tool open and corecovery, and flow ra	losed, flowi tes if gas to	ring and shut to surface tes	t-in press st, along	sures, whether s with final chart(shut-in pres	sure rea	ched static level	, hydrostatic p	oressures, bottom	hole temp	perature, fluid	
Samples Sent to Geological Survey				√ \	Yes No		 ✓L	og Formatio	on (Top), Dept	h and Datum		Sample	
Ves No	Samples Sent to Ger	ological Su	irvev	⋈	Yes 1o	Name				•			
Microresistivity Log Fort Scott 4261 -1849 Sheet attached	Cores Taken Electric Log Run Electric Log Submitted Electronically (If no, Submit Copy) List All E. Logs Run:				Yes No Anny Yes No Heel Yes No Toro LKC BKC Pawn			ydrite B bner Sha onto nee ette Sha	1934 3783 3801 3819 4069 4182 4240	1934 + 47 3783 -137 3801 -138 3819 -140 4069 -165 4182 -177			
CASING RECORD New											1849		
Purpose of String				Don			_			1000	<u> </u>		
ADDITIONAL CEMENTING / SQUEEZE RECORD Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated RECEIVED SEP 2 7 2010 SEP 2 7 2010 STUBING RECORD: Size: Set At: Packer At: Liner Run: Yes No Date of First, Resumed Production, SWD or ENHR. Producing Method: Flowing Pumping Gas Lift Other (Explain)	Purpose of String	I I		Si	ize Casing	Weig	ght	Setting	Type of				
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated RECEIVED SEP 2 7 2010 SUBING RECORD: Size: Set At: Packer At: Liner Run: Production, SWD or ENHR. Production Plug Buls. Sep 2 8 Mcf Water Bbls. Disposition of GAs: Wented Shoth! 400 Rb. METHOD OF COMPLETION: Submit ACO-5) Submit ACO-5 Su	SURFACE	12 1/4	4"	8 5/8"		20		216	СОМ	150	3% C0	2 % GEL	
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated RECEIVED SEP 2 7 2010 SUBING RECORD: Size: Set At: Packer At: Liner Run: Production, SWD or ENHR. Production Plug Buls. Sep 2 8 Mcf Water Bbls. Disposition of GAs: Wented Shoth! 400 Rb. METHOD OF COMPLETION: Submit ACO-5) Submit ACO-5 Su													
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated RECEIVED SEP 2 7 2010 SUBING RECORD: Size: Set At: Packer At: Liner Run: Production, SWD or ENHR. Production Plug Buls. Sep 2 8 Mcf Water Bbls. Disposition of GAs: Wented Shoth! 400 Rb. METHOD OF COMPLETION: Submit ACO-5) Submit ACO-5 Su					ADDITIONAL	CEMENTIN	NG / SQL	JEEZE RECORD			1		
Shots Per Foot PERFORATION RECORD - Bridge Plugs Sel/Type Specify Footage of Each Interval Perforated RECEIVED RECEIVED SEP 2 7 2010 **CC WICHITA** TUBING RECORD: Size: Set Al: Packer At: Liner Run:	Perforate Protect Casing			Туре					Type and Percent Additives				
Specify Footage of Each Interval Perforated													
SEP 2 7 2010 CC WICHITA	Shots Per Foot	F									d	Depth	
SEP 2 7 2010 CC WICHITA										RECEIVE	D		
TUBING RECORD: Size: Set At: Packer At: Liner Run:													
TUBING RECORD: Size: Set At: Packer At: Liner Run:									-	KCC WICH	HTA		
Date of First, Resumed Production, SWD or ENHR. Producing Method: Flowing Pumping Gas Lift Other (Explain) Estimated Production Per 24 Hours DISPOSITION OF GAS: METHOD OF COMPLETION: Vented Sold Used on Lease Open Hole Perf. Dually Comp. Commingled (Submit ACO-4) (Submit ACO-4)	TUBING RECORD:	Size:		Set At:	:	Packer At:	:	_					
Estimated Production Per 24 Hours Oil Bbls. Gas Mcf Water Bbls. Gas-Oil Ratio Gravity DISPOSITION OF GAS: METHOD OF COMPLETION: PRODUCTION INTERVAL: Vented Sold Used on Lease Open Hole Perf. Dually Comp. Commingled (Submit ACO-4)	Date of First, Resumed	Production,	SWD or ENH	R.									
Vented Sold Used on Lease Open Hole Perf. Dually Comp. Commingled (Submit ACO-4)			Oil Bl	bls.						Gas-Oil Ratio		Gravity	
Vented Sold Used on Lease Open Hole Perf. Dually Comp. Commingled (Submit ACO-4)	SIGNOCITIE												
	Vented Sold	Used	d on Lease		Open Hole	Perf.	Dually	Comp. Com		PRODUCTIO)N INTER\	/AL:	

Side Two

Operator Name: A & A PRODUCTION	Lease Name: DIETZ Well #: 1
Sec. 19 Twp. 13 S. R. 22 East West	County: TREGO

NAME	TOP	DATUN
Cherokee Sand Missiciippi Cher	4330 4372	-1918 -1960
Viola	4403	-1991
Arbuckle	4440	-2028
RTD	4500	-2089

RECEIVED
SEP 2 7 2010
KCC WICHITA



PO BOX 31 Russell, KS 67665

INVOICE

Invoice Number: 124485

Invoice Date: Sep 12, 2010

Page: 1

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

A & A Production P O Box 100

Hill City,, KS 67642-0100

CustomerID	# "Well Name# or Customer P.O.	Paymen	t Terms
A&APro -	Dietz#1	Net 30	Days
Job Location #	Camp Location	Some Date	Due Date
KS2-03	Russell	Sep 12, 2010	10/12/10

	Quantity		ltem 🦾	Description *****	Unit Price	Amount
ľ	138.00	MAT		Class A Common	13.50	1,863.00
	92.00	MAT		Pozmix	7.55	694.60
	8.00	MAT		Gel	20.25	162.00
	57.00	MAT		Flo Seal	2.45	139.65
	230.00	SER		Handling	2.25	517.50
	40.00	SER		Mileage 230 sx @.10 per sk per mi	23.00	920.00
	1.00	SER		Rotary Plug	991.00	991.00
	40.00	SER		Pump Truck Mileage	7.00	280.00
				10-23 10 1	1315	RECEIVED SEP 27 2010 CC WICHITA

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 111355

ONLY IF PAID ON OR BEFORE
Oct 7, 2010

Subtotal	5,567.75
Sales Tax	378.61
Total Invoice Amount	5,946.36
Payment/Credit Applied	
TOTAL	5,946.36

4832.81



PO BOX 31 Russell, KS 67665

Voice: (785) 483-3887 Fax: (785) 483-5566

Bi	II To:					i juni		
Α	& A Pro	duction	า				 7	 4.44.4
Ρ	O Box 1	00						
Hi	II City,,	KS 67	642-0	100				

Gustomer ID	Well Name# or Customer P.O.	Paymen	t Terms
A&APro	I	Net 30	Days
Job Location	Cample and Cample and the second	Some Date High	Due Date
KS2-01	Russell	Sep 1, 2010	10/1/10

Quantity	Item	Description 19	" Unit Price	Amount
90.00	MAT	Class A Common	13.50	1,215.00
60.00	MAT	Pozmix	7.55	453.00
3.00	MAT	Gel	20.25	60.75
5.00	MAT	Chloride	51.50	257.50
150.00	SER	Handlign	2.25	337.50
40.00	SER	Mileage 150 sx @.10 per sk per mi	15.00	600.00
1.00	SER	Surface	991.00	991.00
40.00	SER	Pump Truck Mileage	7.00	280.00
		089-9-	K	RECEIVED SEP 2 7 2010 CC WICHITA

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE
Sep 26,2010

Subtotal	4,194.75
Sales Tax	135.07
Total Invoice Amount	4,329.82
Payment/Credit Applied	
TOTAL	4,329.82

INVOICE

Invoice Number: 124316
Invoice Date: Sep 1, 2010

Page:

- <u>838.95</u> 3490.87